2021/7/6

S XIPUKRIASH

M14~M20

1 + +
=T O | [ Q-
o . K2
— -— p 2
p Ke - I "]
- - L
- L -
R&-P1X HRLO R | RUKR| @& | AD =1 BAUEE| M8 IR
EXR8 FEFI-R JANO— R BEYIYT - SvTHER 2% BE L X—RLAL L 0 d K ko B W | S=REM| Tyoe
Eik © 6H 1BJUIS21R mm mm mm mm mm
T-H-HT-M14X1 5-1 256-0833 | 4550414031450 | TRUSCO N\YE&wT % HSS-E M14X15 ow
T-H-HT-M14X15-2 256-0847 | 4550414031467 [ TRUSCO NYE&wT  HSS-E M14X15 I 88 42 105 8 1 4 5w HSS-E c
T-H-HT-M14X1.5-3 255-9334 | 4550414031474 | TRUSCO /\YESvT t HSSE M14X15 1.5W
T-H-HT-M14X1 25-1 256-0830 | 4550414031429 | TRUSCO N\YFHvJ % HSSE M14X125 ow
T-H-HT-M14X125-2 | 256-0842 | 4550414031436 | TRUSCO N\YE&HvT @ HSSE M14X125 I 88 42 105 8 1 4 5 HSS-E c
T-H-HT-M14x1.25-3 | 256-0850 | 4550414031443 [ TRUSCO N\YESvT E HSSE M14X1.25 1.5
T-H-HT-M14X1 0-1 256-0845 | 4550414031399 | TRUSCO N\YFHwJ % HSSE M14X10 ow
T-H-HT-M14X1.0-2 256-0837 | 4550414031405 | TRUSCO N\YE&wT  HSS-E M14X10 I 70 30 105 8 1 4 5w HSS-E c
T-H-HT-M14X1.0-3 256-0835 | 4550414031412 | TRUSCO /\YESwT E HSS-E M14X10 1.5W
T-H-HT-M16X1 5-1 256-0807 | 4550414031511 | TRUSCO N\YF&vJ % HSSE MI16X15 ow
T-H-HT-M16X1.5-2 256-0806 | 4550414031528 | TRUSCO N\YE&wT  HSS-E M16X15 I 95 45 125 10 13 4 5w HSS-E c
T-H-HT-M16X1.5-3 256-0819 | 4550414031535 | TRUSCO /\YESvT t HSS-E M16X15 1.5
T-H-HT-M16X1.0-1 256-0814 | 4550414031481 | TRUSCO N\YF&vJ % HSSE MI6X10 ow
T-H-HT-M16X1.0-2 256-0825 | 4550414031498 | TRUSCO N\YE&wT © HSS-E M16X10 I 75 30 125 10 13 4 5w HSS-E c
T-H-HT-M16X1.0-3 256-0808 | 4550414031504 | TRUSCO /\YESwT t HSS-E M16X1.0 1.5W
T-H-HT-M18X1 5-1 256-0809 | 4550414031573 | TRUSCO N\YF&vJ % HSSE MI8X15 ow
T-H-HT-M18X1.5-2 256-0816 | 4550414031580 | TRUSCO N\YE&wT o HSS-E MI18X15 I 95 45 14 11 14 4 5w HSS-E c
T-H-HT-M18X1.5-3 255-9335 | 4550414031597 | TRUSCO /\YE&wTJ t HSS-E M18X15 1.5
T-H-HT-M18X1 0-1 256-0822 | 4550414031542 | TRUSCO N\YF&vJ % HSSE MI8X10 ow
T-H-HT-M18X1.0-2 255-0336 | 4550414031559 | TRUSCO N\YE&wT  HSS-E M18X10 I 80 30 14 11 14 4 5w HSS-E c
T-H-HT-M18X1.0-3 256-0811 | 4550414031566 | TRUSCO /\YESwT t HSS-E M18X1.0 1.5W
T-H-HT-M20X1 5-1 256-0821 | 4550414031634 | TRUSCO \YF&vJ % HSSE M20X15 ow
T-H-HT-M20X1.5-2 256-0823 | 4550414031641 | TRUSCO N\YFE&vT @ HSS-E M20X15 1 95 45 15 12 15 4 S5 | HSSE C
T-H-HT-M20X1.5-3 256-0813 | 4550414031658 | TRUSCO /\YESvTJ t HSS-E M20X15 1.5
T-H-HT-M20X1 01 256-0820 | 4550414031603 | TRUSCO N\YF&wJ % HSSE M20X10 ow
T-H-HT-M20X1.0-2 256-0810 | 4550414031610 | TRUSCO N\YE&wT @ HSS-E M20X10 1 80 30 15 12 15 4 5W | HsSs-E C
T-H-HT-M20X1.0-3 255-9333 | 4550414031627 | TRUSCO /N\YESwT Lt HSS-E M20X10 1.5W
1= R BE N\Y RSy THEINSHyT | BE




